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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3}, or (4) that best completes each
sentence. Then mark the correct choiee on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are —-—--—- .
1} consisient Frdistinet 3 lemporary 4} adequatc
2-The hurricane would not have had such a/an --ceeeeeee effect on the coastal village had
the storm surge not arrived during an abnormally high tide. .
|} devastating 2) ultimate 3) caleulating 4 obligatory
3- Federica expressed doubt about the existence of true altruism, claiming that no one
MAKes @ wwemmeeeee without expecting to receive something in return in one form or
anuther.
1) facility 2} hypothesis 1) premise 4) sacrifice )
4- As a supporter of the value of free trade, Bennett was often called upon to give
speeches around the world -——--—— the virtues of unencumbered commerce,
I} monitering 1) purchasing ) praising 4 exchanging

5- The ciforis to revive the local economy after the departure of the town's largest
employer were eased by the construction of a new arts center that would infuse the
community with much-needed -eseeeeees,

|} revente 2) scheme 3) schedule _ 4 survival
6-Eagerly advocating rehabilitation , Gena has always believed that individuals who have
been  imprisoned descrve the opportunity to return to socicty 48 ----—--- citizens.
Ly voluntary 2) crucial 3) productive 4} internal
T-With ==emeeneen approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
11 intrinsic 2} lanatical 3 sporadic 4y unanimous
8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis™ suggests that excessively sanitary conditions can ---==—v--- a
person’s resistance to disease.
I} initiate 2y diminish 3 abandon &) undertake
9- One popular misconception is that these subsidies produce lower food prices, and so
are a ----—--- 1o consumers. This analysis ignores the fact that consumers are also
paying for these subsidies through taxes.
Ly transfer 2) device 3} boon o) status

10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
hooks that ---—=-- to a wide variety of readers.
1} appeal 2} attribute 1} appear 43 devaote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
e, en rk .-:tl comect J:m on Your answer shn:-e

The climate is expected to increasingly shape and (11) ~eemeee-s by cities. In a vicious circle.
climate change will increase energy demand Tor air conditioning in cities, {12) ------caee will
add to greenhouse gas emissions. [ could also raise temperatures in wrban arcas (13} ------—-
2-6 °C. "Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas.
reducing  agricultural  yvields, increasing  health risks and (14) —-———--- tomadocs  and
thunderstorms, {1 5) ====-=--= 0@ urhan water sup lies are cxpeuwd ta be dramatic.” the report
says. Cities like Mew Delhi, in the drier areas. will be hit particularly hard.

1= |} be zhaped 21 shaped 3} is shaped 4 be shaping
12= 1y where they 2] they 3} that 4} which
13- 1) high up 25 by 3} For 4} al
14- 1}to produce 2} and produce 3y and producing Ay which produces
15 1} The impacts of climate change 2 The climate |:T1:+r|g|: impact
3) The impact changes in climate 4) The change in climate impact
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| PART C: Reading Comprehension
ctions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

our answer sheet.,

Passage 1:

Reliability is one of the major attributes determining system effectiveness. It is generally
defined as the probability that a given system will perform its intended function satisfactorily,
for its intended life, under specificd operating conditions. With this definition. the obvious
problems are (1) the acceptance of the probabilistic notion of reliability; (2) the problems
associated with defining adequate performance, particularly for swstem parameters that
deteriorate slowly with time; and (3) the judgment required to determine the proper statement
of operating conditions.

Reliability is an inherent attribute of a system resulting from design just as is the system's
capacity, performance. or power rating. The reliability level is established at the design phase,
and subsequent testing and production will not raise the reliability without a basic design
change. Because reliability is an abstract concept that is ditficult to grasp and to measure, many
organizations find themselves unable 1w implement & comprehensive reliability program
primarily because of the lack of understanding on the part of both management and technical
system design personnel. This is not to say that the system designers or managers in the
organization are not interested in a reliable product. but rather, the pressures on the design
engineer, and very often on the organizational structure, impede the development of an
effective reliability program.

With increasing system complexily, reliability becomes an elusive and difficult design
parameter. It becomes more difficult not only 1o define and achieve as a design parameter, but
also to control and demonstrate in production and thus to ensure as an operational characteristic
under the projected environmental conditions of use. However, past history has demonstrated
that, where reliability was recognized as a necessary program development component, with
the practice of various reliahility engincering methods throughout the evolutionary life cycle of
the system. reliability can be quantified during the specification of design requirements, can be
predicted by testing, can be controlled during production, and can be sustained in the field.

With regard to the first paragraph, select the best group of words to complete a correct
definition for " reliabilicy™.

"Reliability is the ............... that an item will perform a required function ...............
under stated conditions fora ............... u

1) probability/ correctly/ long period of time

2) probability/ without failure/ stated period of time

) performance’ without failure/ long period of time

4) performance/ correetly/ stated period of time

Bascd on the above passage, which of the following is true about relinbility?

1} Design phase is the least important one in establishing reliability level.

2} Reliahility is more important than the system’s capacity, performance, or power rating.

i) The more complex a svstem. the more dilficalt achieving the projected reliability,

4) The system designers or managers in the organization are not interested in a reliable product.
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Considering the above passage, why is reliability important?

1} Because it is probabilistic

2} Because it determines system effectiveness

3} Because its level is established ai the design phasc

4) Because reliability is an abstract concept that is difficult o grasp and to measure

Which of the following can NOT be replaced with the word "deteriorate” in line 67
1) Develop 21 Weaken 3) Decline 4 Depreciate
What is the best synonym for the word "elusive” in line 187

1) Obtainable 2) Accessible 3) Convenient 4y Ambiguous
Passage 2:

Reguardiess of the type of product, it is imporant to focus a marketing strategy on targel
customers, Tarpet marketers believe that in most product arcas the market is composed of
widely dissimilar submarkets.

By seleeting similar, more homopencous segments. better onented. more profitable
marketing practices are developed,

When deciding questions ofdiversification and simplification. marketers must also look af
the petential size of a market, at the financial position and practices of their firm, and at the
resources available. All these elements influence the breadih of the product line. Determining
where to position a product is an important marketing decision.

An item such as deodorant may be introduced specifically as a men's or women's product
but later may be repositioned as a family product, In addition fo positioning with respect (o
consumer segments, marketing managers position their products with respect 1o the
competition. A magazing publisher may wish 10 position a publication so as to challenge the
leader in a given market. Changes in format. emphasis, or editorial policy can appeal to the
same consumer interests that buy the leader. If, as in this example. the result is also (o appeal to
a market that is more afflucnt and more quality-conscious, the price will be raised. This process
is known as trading up.
According to the passage, what is the synonym for ""homogeneous” in line 47
1) Mixed 2} Miscellancous 3) Consonant 4} Heterogeneous
What is the antonym for "breadth" in line 87
1) Span 2) Wideness 1) Broadness 4) Mammowness
The terms "target customers", "scgments", "position a produet”, and "trading up” are
used in the passage as specialized terms in the field of .............
1} finance 2) marketing
3 publishing 4 product manufacturing
According to the passage, once a product is positioned in a market, it ..............

1} will lose its appeal

2} is fixed and cannot be moved

3} will invariably cost the consumer more money

4} may later be repositioned in another market

Which of the following is NOT mentioned as a concern of marketing managers?
1) The cost of transportation of the product 2} The size of the market

1) The tirm’s finance and practices 4} The competition
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Passage 3:

Ihe law of supply and demand. formulaied by the British economist Thomas R. Malthus.
says that for each commodity. a price must exist that will cause the commodity's supply and
demand 10 be equal. In other words. the willingness of buyers to buy and of sellers to sell
generally reveals a price at which the two activities intersect to create the equilibrium, or
normal price. If sellers cannot find buyers. they will cut prices. Buyers who are looking for
sellers will offer to pay higher prices, Thus. any variation from the equilibrium price scems to
automatically correct itselfby markel forces that push toward the norm. At least this is the
theory. Speculation and price controls inhibit this natural process, When goods are considered
in the aggregate and the complex issues of unemployment, the international balance of trade.
and national priorities are also considered, the equilibrium will still be reached but in an
altered, controlled form.

According to the passage, what is the synonym for "reveals” in line 47

1) deludes 2 discloses ¥) deceives 4) disguises
What is the best synonym for "speculation” in line 82

I} certainty 2) discourse 3} designation 4) gambling
What is the best synonym for "inhibit" in line 87

1} approvi 2) restrain 3) yield 4} warrant
According to the passage, ........ errsanen e

1) speculation is an illegal activity in most countries

2) the price of a product is determined 1o a large extent by the natural forces of equilibrium

3) the law of supply and demand has been repealed by the British government

4} government price control programs always cause buvers to pay more for goods than the
goods are worth

It can be inferred from the passage that the author believes the law of supply and

demand to be ..ovevvnnnnnnn. )

1) a natural process

2) rejected by Malthus at a later date

3) inherently inequitable

4) a contradictory theory. of liltle value to economi sis
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